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P4 (plot by DAT)
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P4 TsN1 (plot by DAT)
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P4 TsN2 (plot by DAT)
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P4 TsN3 (plot by DAT)
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P4 TsN4 (plot by DAT)
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P4 TsN5 (plot by DAT)
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Days After Budding

P4 TsN6 (plot by DAT)
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P4 (plot by adjDAT)
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P4 TsN1 (plot by adjDAT)
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P4 TsN2 (plot by adjDAT)
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P4 TsN3 (plot by adjDAT)
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Days After Budding

P4 TsN4 (plot by adjDAT)
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P4 TsN5 (plot by adjDAT)
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Days After Budding

P4 TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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Plot EnvOpt Decision

30
- T 50 1 —— optT1
25 ] —— Tdew —  0optT2
— o
40 -
20 -
15 30 4
10
20
5_
0 5 10 15 20 0 5 10 15 20
hr hr
30 30 1
— T —— OptRH1
—0— LT —— OptRH2
25_ 60_
20 -
40 -
15
20
10
o_
5_
0 5 10 15 20 0 5 10 15 20
hr hr
1500 -
—o— ppr0 | 20 -———~\\\___///f————_—____-\\\\\,/-
1250 -
60 -
1000 - 40 1
750 - 20
500 - 01
_20_
250 1 40 ] —— warRH1
0 ) —— warRH2
0 5 10 15 20 0 5 10 15 20
hr hr
2.57 — optvPD
—0— leafVPD
201 — airveD 251
1.5 - -
-0 PATG T1
—— PATG_T2
1.0 - T
15 -
0.5
0-01 101 .-.\,/
0 5 10 15 20 0 5 10 15 20
hr hr
90 -
80 - 25
70 -
504 — PATS_T1
60 - —— PATS_T2
—o—
50 - T
15 -
40 -
—-e— RH
301+ RHo 10 +

0 5 10 15 20
hr

1000 ~
900 -
800 A
700 A
600 A
500 ~
400 -

300 A

700 A

600 A

500 A

400 -

m_

hr

1000 ~

900 -

800 A

700 A

600 A

500 A

400 -

m_

o0 4
=
o

12 14 16 18
hr

1400 A
1200 A
1000 A
800 A
600 -
400 -
200 ~

g

~0—&_

PATG_P1
PATG_P2

m_

8 10 12
hr

14 16 18

1400 ~
1200 A
1000 ~
800 A
600 A
400 -

200 A

L
/+ :

PATS_P1
PATS P2

\

8 10 12 14 16 18
hr

1400 A
1200 A
1000 A
800 A
600 A
400 -
200 A




- 20

o o

o
< N <
B |

BT

| | | | | | | | | | | | | | | | |
O N  ©W 0 O N VU 0 O N & VW 0o O
N = A = ~~ N N N N N M ™M

p



